[ number of missing inner layers |

1

107}

Entries 11167
Mean 0.04307
Std Dev 0.2483
Entries 12596
Mean 0.0466
Std Dev 0.2443
Entries 9591
Mean 0.04515
. Std Dev 0.23
R . PR rrrre P FP .
------------------------------------ e
. S S

[ number of missing outer layers |

1 —| Entries 11167
: Mean 1.692
;| std Dev 2.196
1 =~ S SO SO — I
107E [Entries 12596
F : Mean 2.052
C . |Std Dev 2.122
£ IR v . T eiiiiiiiteiiiii...
10 E i [Entries 9591
F ' Mean 1.881
3' . |.Std Dev 1.95
10 T P P
10_4§_ """""""""" ' """ """""
1072 e | B R Freeeeeees B
) I B | N A T
10373 : : :
. : : :
S Foo i S SR
: SR i :
L T : :
05k R : :
0 5 10 15 20

—— DQMstep3_SoftQCD_CKF
=== DQMstep3_SoftQCD_default
— DQMstep3_SoftQCD_defaultNEWT3

<hits> vs n

..........................

o QF

I r

(hd L
0.8 -
0.6}

O N DN O
Illill

Entries 946105

R T A Mean 0.6729

lo Std Dev 0.6787

: I

- Entries 946105

2ol ] Mean 0.6729

lo E Std Dev 0.6787

E B |

[ Entries 946105

) R S Mean 0.6729

10 E Std Dev 0.6787
O - IR e
105 ---eneeee [P [ TP e

i

=
TTTTET T T T

10

Ratio

10

[y

o
o

] Entries 11167

- Mean 11.37

- Std Dev 7.135

H H |

Entries 12596

Mean 9.374

: | Std Dev 5.486

: Entries 9591

;4 Mean 10.04
Std Dev

25 30 35 40
track hits

- - Entries 11528
B : Mean 0.5026
= : Std Dev 0.3464
10 F & "H: T T T
Entries 12864
: Mean 0.4786
102l bl Std Dev 0. 359(]3
: Entries 9771
Mean 0.4712
10_3____________ _________________ Std Dev 0.3087
10—4 §_ ................................. : ............
T R I | £ BEERES s
Y I i
10162'_....* ...... I...:|:. P e mememaaaan
15__¢1§__*_____=_+}___ Y o
E * :
0.8F-------- ¥ *+Ht --------------- e
Y5 USSR SRR 04 1 SRR e
1 10?




	Contents
	Page 1


